
16

	 Pack		  Cat. Nos.		�  Accessories (continued)

					     PVC edging strip
					�     For fitting on to top edge of 

partition

	 1		  T206		  10 m strip

					     Socket plates
					�     Not applicable to IP4X 

Only available in screwfix or 
tamperproof

		  Screwfix		  Tamperproof	� Single
	 1	 MSR4SG		  MSTR4SG	 100 mm wide
	 1	 MSR6SG		  MSTR6SG	 150 mm wide
	 1	 MSR9SG		  MSTR9SG	 225 mm wide
	 1	 MSR12SG		  MSTR12SG	 300 mm wide

			�		     Twin
	 1	 MSR4TS		  MSTR4TS	 100 mm wide
	 1	 MSR6TS		  MSTR6TS	 150 mm wide
	 1	 MSR9TS		  MSTR9TS	 225 mm wide
	 1	 MSR12TS		  MSTR12TS	 300 mm wide

					     Fasteners

	 100		  ETCLIP		  M5 clip nut

	 10		  RTB1		�  Diecast turnbuckle for lid  
width up to 150 mm

	 10		  RTB2		�  Diecast turnbuckle for lid  
width 225 mm and above

	 100		  T301		�  Screwfix 
M5 x 9

	 100		  T304		�  Tamperproof screwfix  
(M5 TORX) M5 x 8

	 100		  T306		  M5 Hex nut

	 1		  TX25		�  Screwdriver for tamperproof 
screwfix

Salamandre® distribution trunking
accessories and fasteners

Key : Z = trunking size code 
Replace Z with the relevant code (see p. 10) 
Note: 
For stirrup hangers (where shown), insert ONLY THE SECOND 
NUMBER from the relevant trunking size code

Pin rack 

MGR22PR

Cable retainer 

MGR4CR

Single socket plate 

MSR4SG

Stirrup hanger 

MGR22H
picto loupe-65765j.eps

Selection chart (p. 8-9)
Order information (p. 10)
Standards and quality assessment (p. 20) 
Dimensions and technical information (p. 28)

	 Pack	 Cat. Nos.	 Accessories

			   Cable retainers
	 10	 MGR2CR	   50 mm wide
	 10	 MGR3CR	   75 mm wide
	 10	 MGR4CR	 100 mm wide
	 10	 MGR6CR	 150 mm wide
	 10	 MGR9CR	 225 mm wide
	 10	 MGR12CR	 300 mm wide

			   Pin racks
	 1	 MGR Z PR	� 1 compartment 

Multi-compartment trunking 
Order per compartment

			   Earth link
	 10	 EL	 Fastenings not supplied

			�   Stirrup hangers
			   Hole for M10 rod
	 1	 MGR22H	   50 mm wide.   50 mm max. depth
	 1	 MGR33H	   75 mm wide.   75 mm max. depth
	 1	 MGR44H	 100 mm wide. 100 mm max. depth
	 1	 MGR66H	 150 mm wide. 150 mm max. depth

	 1	 MGR9 Z H	 225 mm wide (not illustrated)
	 1	 MGR12 Z H	� 300 mm wide (not illustrated)

			   Overhead hanger
	 10	 MGR Z OH	 Hole for M10 rod
			�   Trunking must be fixed to  

base of hanger

			�   Loose partitions – 3 m
	 1	 MGR2PART	   50 mm deep
	 1	 MGR3PART	   75 mm deep
	 1	 MGR4PART	 100 mm deep
	 1	 MGR6PART	 150 mm deep
	 1	 MGR9PART	 225 mm deep
	 1	 MGR12PART	 300 mm deep

SF.1006-HEX NUT


